84 + A man is dragging a Figure E4.4
trunk up the loading ramp of a
mover's truck. The ramp has

a slope angle of 20.0°, and the
man pulls upward with a force

F whose direction makes an
angle of 30.0° with the ramp
(Fig. E44). (a) How large a
force F is necessary for the
component F, parallel to the
ramp to be 60.0 N? (b) How large will the component F, perpendi-
cular to the ramp then be? -




3.92 ++ Two blocks connected by a cord passing over a small,
frictionless pulley rest on frictionless planes (Fig. P5.92). (a) Which
way will the system move when the blocks are released from rest?

(b) What is the acceleration of the blocks? (c) What is the tension
in the cord?

Figure P5.92

100ke .,
S50 50 kg




3.60 **+ A horizontal wire
holds a solid uniform ball of
mass m in place on a tilted
ramp that rises 35.0° above the
horizontal. The surface of this
ramp 15 perfectly smooth, and
the wire 1s directed away from
the center of the ball (Fig.
P5.60). (a) Draw a free-body
diagram for the ball. (b) How hard does the surface of the ramp push
on the ball? (c) Whal 1s the tension in the wire?




3.6 -+ A large wrecking ball
15 held in place by two light
steel cables (Fig. E5.6). If the
mass m of the wrecking ball 1s
409 kg, what are (a) the ten-
sion Ty in the cable that makes

an angle of 40° with the verti-
cal and (b) the tension T in the

horizontal cable?

Figure E5.B




4.31 =+ A chair of mass 12.0 kg 15 sitting on the horizontal floor;
the floor 18 not frictionless. You push on the chair with a force
F = 4010 N that 1s directed at an angle of 37.0° below the horzon-
tal and the chair shdes along the floor. (a) Draw a clearly labeled
free-body diagram for the chair. (b) Use your diagram and Newton's
laws to calculate the normal force that the floor exerts on the chair.



